

P.N. NATARAJAN

A Generalization of a Theorem of Móricz and Rhoades on Weighted Means

Abstract. In this paper, we prove a theorem which gives an equivalent formulation of summability by weighted mean methods. The result of Hardy [1] and that of Móricz and Rhoades [2] are special cases of this theorem. In this context, it is important to note that the result of Móricz and Rhoades is valid even without the assumption $\frac{p_n}{P_n} \rightarrow 0$ as $n \rightarrow \infty$.

2000 *Mathematics Subject Classification*: 40,46.

Key words and phrases: Regular matrix, Weighted means, Equivalence.

1. Introduction. For the sake of completeness, we recall the following. Given an infinite matrix $A = (a_{nk})$, $n, k = 0, 1, 2, \dots$ and a sequence $x = \{x_k\}$, $k = 0, 1, 2, \dots$, by the A -transform of $x = \{x_k\}$, we mean the sequence $Ax = \{(Ax)_n\}$,

$$(Ax)_n = \sum_{k=0}^{\infty} a_{nk}x_k, \quad n = 0, 1, 2, \dots,$$

it being assumed that the series on the right converge. If $\lim_{n \rightarrow \infty} (Ax)_n = \ell$, we say that $x = \{x_k\}$ is A -summable or summable A to ℓ . If $\lim_{n \rightarrow \infty} (Ax)_n = \ell$, whenever $\lim_{k \rightarrow \infty} x_k = \ell$, we say that A is regular. The following theorem is well-known (see [3], Theorem II.1, pp. 11-12).

THEOREM 1.1 $A = (a_{nk})$ is regular if and only if

- (i) $\sup_n \sum_{k=0}^{\infty} |a_{nk}| < \infty$;
 - (ii) $\lim_{n \rightarrow \infty} a_{nk} = 0$, $k = 0, 1, 2, \dots$;
- and

$$(iii) \lim_{n \rightarrow \infty} \sum_{k=0}^{\infty} a_{nk} = 1.$$

An infinite series $\sum_{k=0}^{\infty} x_k$ is said to be A -summable to ℓ if $\{s_n\}$ is A -summable to ℓ , where $s_n = \sum_{k=0}^n x_k$, $n = 0, 1, 2, \dots$.

2. Weighted Means.

DEFINITION 2.1 ([3], p.16) The weighted mean method or $(\bar{N}, p_n)$ method is defined by the infinite matrix $A = (a_{nk})$, where

$$a_{nk} = \begin{cases} \frac{p_k}{P_n}, & k \leq n; \\ 0, & k > n, \end{cases}$$

$$P_n = \sum_{k=0}^n p_k, \quad n = 0, 1, 2, \dots, \quad P_n \neq 0, \quad n = 0, 1, 2, \dots$$

THEOREM 2.2 ([3], p.16) The weighted mean method $(\bar{N}, p_n)$ is regular if and only if

$$(i) \sum_{k=0}^n |p_k| = O(P_n), \quad n \rightarrow \infty;$$

and

$$(ii) P_n \rightarrow \infty, \quad n \rightarrow \infty.$$

REMARK 2.3 $|P_n| \leq \sum_{k=0}^n |p_k| \leq \sum_{k=0}^{n+m} |p_k| \leq L|P_{n+m}|$ for some $L > 0$, $m = 0, 1, 2, \dots$;
 $n = 0, 1, 2, \dots$

3. Main Result. We now prove the main result, which gives an equivalent formulation of summability by weighted mean methods.

THEOREM 3.1 Let $(\bar{N}, p_n)$, $(\bar{N}, q_n)$ be two regular weighted mean methods. For a given infinite series $\sum_{k=0}^{\infty} x_k$, let

$$b_n = q_n \sum_{k=n}^{\infty} \frac{x_k}{Q_k}, \quad n = 0, 1, 2, \dots$$

Let $\sum_{n=0}^{\infty} b_n$ converge to ℓ . Then $\sum_{k=0}^{\infty} x_k$ is $(\bar{N}, p_n)$ summable to ℓ if and only if

$$\sup_n \left[\frac{1}{|P_n|} \sum_{k=1}^n \left| \frac{p_k Q_{k+1}}{q_{k+1}} - \frac{p_{k-1} Q_{k-1}}{q_k} \right| \right] < \infty.$$

PROOF Let $B_n = \sum_{k=0}^n b_k \rightarrow \ell, n \rightarrow \infty$. Now,

$$\begin{aligned} \frac{b_n}{q_n} - \frac{b_{n+1}}{q_{n+1}} &= \sum_{k=n}^{\infty} \frac{x_k}{Q_k} - \sum_{k=n+1}^{\infty} \frac{x_k}{Q_k} \\ &= \frac{x_n}{Q_n}, \end{aligned}$$

so that

$$x_n = Q_n \left(\frac{b_n}{q_n} - \frac{b_{n+1}}{q_{n+1}} \right), \quad n = 0, 1, 2, \dots$$

Consequently

$$\begin{aligned} s_m &= \sum_{k=0}^m x_k \\ &= \sum_{k=0}^m Q_k \left(\frac{b_k}{q_k} - \frac{b_{k+1}}{q_{k+1}} \right) \\ &= \sum_{k=0}^m Q_k \frac{b_k}{q_k} - \sum_{k=1}^{m+1} Q_{k-1} \frac{b_k}{q_k} \\ &= Q_0 \frac{b_0}{q_0} + \sum_{k=1}^m (Q_k - Q_{k-1}) \frac{b_k}{q_k} - Q_m \frac{b_{m+1}}{q_{m+1}} \\ &= b_0 + \sum_{k=1}^m q_k \frac{b_k}{q_k} - Q_m \frac{b_{m+1}}{q_{m+1}} \\ &= b_0 + \sum_{k=1}^m b_k - Q_m \frac{b_{m+1}}{q_{m+1}} \\ &= \sum_{k=0}^m b_k - Q_m \frac{b_{m+1}}{q_{m+1}} \\ (1) \quad &= B_m - Q_m \frac{b_{m+1}}{q_{m+1}}. \end{aligned}$$

By hypothesis $\sum_{k=0}^{\infty} \frac{x_k}{Q_k}$ converges so that

$$\frac{b_n}{q_n} = \sum_{k=n}^{\infty} \frac{x_k}{Q_k} \rightarrow 0, n \rightarrow \infty.$$

Now,

$$\frac{s_m}{Q_m} = \frac{B_m}{Q_m} - \frac{b_{m+1}}{q_{m+1}}, \quad \text{using (1).}$$

Since $\{B_n\}$ converges, it is bounded so that for some $M > 0$, $|B_n| \leq M$, $n = 0, 1, 2, \dots$. Since (N, q_n) is regular, $|Q_n| \rightarrow \infty$, $n \rightarrow \infty$ so that

$$\left| \frac{B_m}{Q_m} \right| \leq \frac{M}{|Q_m|} \rightarrow 0, m \rightarrow \infty.$$

Thus

$$\frac{s_m}{Q_m} \rightarrow 0, m \rightarrow \infty.$$

For $n = 0, 1, 2, \dots$,

$$\begin{aligned} b_n &= q_n \sum_{k=n}^{\infty} \frac{x_k}{Q_k} \\ &= q_n \lim_{m \rightarrow \infty} \sum_{k=n}^m \frac{s_k - s_{k-1}}{Q_k} \quad (\text{where } s_{-1} = 0) \\ &= q_n \lim_{m \rightarrow \infty} \left\{ \sum_{k=n}^m \frac{s_k}{Q_k} - \sum_{k=n-1}^{m-1} \frac{s_k}{Q_{k+1}} \right\} \\ &= q_n \lim_{m \rightarrow \infty} \left\{ \sum_{k=n}^{m-1} \frac{s_k}{Q_k} + \frac{s_m}{Q_m} - \sum_{k=n}^{m-1} \frac{s_k}{Q_{k+1}} - \frac{s_{n-1}}{Q_n} \right\} \\ &= q_n \lim_{m \rightarrow \infty} \left\{ \sum_{k=n}^{m-1} \left(\frac{1}{Q_k} - \frac{1}{Q_{k+1}} \right) s_k + \frac{s_m}{Q_m} - \frac{s_{n-1}}{Q_n} \right\} \\ &= -q_n \frac{s_{n-1}}{Q_n} + q_n \sum_{k=n}^{\infty} \left(\frac{1}{Q_k} - \frac{1}{Q_{k+1}} \right) s_k, \quad \text{since } \lim_{m \rightarrow \infty} \frac{s_m}{Q_m} = 0 \\ &= -q_n \frac{s_{n-1}}{Q_n} + q_n \sum_{k=n}^{\infty} c_k s_k, \quad \text{where } c_k = \frac{1}{Q_k} - \frac{1}{Q_{k+1}}, \\ (2) & \qquad \qquad \qquad k = 0, 1, 2, \dots \end{aligned}$$

Now,

$$\begin{aligned}
B_n &= \sum_{k=0}^{n-1} b_k + b_n \\
&= \sum_{k=0}^{n-1} \frac{b_k}{q_k} q_k + b_n \\
&= \sum_{k=0}^{n-1} q_k \left(\sum_{u=k}^{\infty} \frac{x_u}{Q_u} \right) + b_n \\
&= q_0 \sum_{u=0}^{\infty} \frac{x_u}{Q_u} + q_1 \sum_{u=1}^{\infty} \frac{x_u}{Q_u} + q_2 \sum_{u=2}^{\infty} \frac{x_u}{Q_u} + \cdots + q_{n-1} \sum_{u=n-1}^{\infty} \frac{x_u}{Q_u} + b_n \\
&= (q_0 + q_1 + \cdots + q_{n-1}) \sum_{u=n-1}^{\infty} \frac{x_u}{Q_u} + q_0 \sum_{u=0}^{n-2} \frac{x_u}{Q_u} + q_1 \sum_{u=1}^{n-2} \frac{x_u}{Q_u} \\
&\quad + q_2 \sum_{u=2}^{n-2} \frac{x_u}{Q_u} + \cdots + q_{n-2} \frac{x_{n-2}}{Q_{n-2}} + b_n \\
&= Q_{n-1} \sum_{u=n-1}^{\infty} \frac{x_u}{Q_u} + b_n + \frac{x_{n-2}}{Q_{n-2}} Q_{n-2} + \frac{x_{n-3}}{Q_{n-3}} Q_{n-3} + \cdots + \frac{x_0}{Q_0} Q_0 \\
&= Q_{n-1} \sum_{u=n-1}^{\infty} \frac{x_u}{Q_u} + b_n + \sum_{k=0}^{n-2} x_k \\
&= s_{n-2} + b_n + Q_{n-1} \sum_{u=n-1}^{\infty} \frac{x_u}{Q_u} \\
&= s_{n-2} + q_n \sum_{u=n}^{\infty} \frac{x_u}{Q_u} + Q_{n-1} \sum_{u=n-1}^{\infty} \frac{x_u}{Q_u} \\
&= s_{n-2} + (Q_n - Q_{n-1}) \sum_{u=n}^{\infty} \frac{x_u}{Q_u} + Q_{n-1} \sum_{u=n-1}^{\infty} \frac{x_u}{Q_u} \\
&= s_{n-2} + Q_n \sum_{u=n}^{\infty} \frac{x_u}{Q_u} + Q_{n-1} \frac{x_{n-1}}{Q_{n-1}} \\
&= s_{n-1} + Q_n \sum_{u=n}^{\infty} \frac{x_u}{Q_u} \\
&= s_{n-1} + Q_n \frac{b_n}{q_n} \\
&= s_{n-1} + Q_n \left[-\frac{s_{n-1}}{Q_n} + \sum_{k=n}^{\infty} c_k s_k \right], \text{ using (2)} \\
&= Q_n \sum_{k=n}^{\infty} c_k s_k,
\end{aligned}$$

so that

$$\frac{B_n}{Q_n} = \sum_{k=n}^{\infty} c_k s_k.$$

Consequently

$$(3) \quad c_n s_n = \frac{B_n}{Q_n} - \frac{B_{n+1}}{Q_{n+1}}, \quad n = 0, 1, 2, \dots$$

Let $\{T_n\}$ be the $(\bar{N}, p_n)$ transform of $\{s_k\}$ so that

$$\begin{aligned} T_n &= \frac{1}{P_n} \sum_{k=0}^n p_k s_k \\ &= \frac{1}{P_n} \sum_{k=0}^n p_k \frac{1}{c_k} \left\{ \frac{B_k}{Q_k} - \frac{B_{k+1}}{Q_{k+1}} \right\}, \quad \text{using (3)} \\ &= \frac{1}{P_n} \left[\frac{p_0}{c_0} \frac{B_0}{Q_0} + \sum_{k=1}^n \left\{ \frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right\} \frac{B_k}{Q_k} - \frac{p_n}{c_n} \frac{B_{n+1}}{Q_{n+1}} \right] \\ &= \sum_{k=0}^{\infty} a_{nk} B_k, \end{aligned}$$

where

$$a_{nk} = \begin{cases} \frac{1}{P_n} \frac{p_0}{c_0 Q_0}, & k = 0; \\ \frac{1}{P_n} \left\{ \frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right\} \frac{1}{Q_k}, & 1 \leq k \leq n; \\ -\frac{1}{P_n} \frac{p_n}{c_n Q_{n+1}}, & k = n+1; \\ 0, & k \geq n+2. \end{cases}$$

Note that $\lim_{n \rightarrow \infty} a_{nk} = 0$, $k = 0, 1, 2, \dots$. Also,

$$\begin{aligned}
 \sum_{k=0}^{\infty} a_{nk} &= \sum_{k=0}^{n+1} a_{nk} \\
 &= \frac{1}{P_n} \left[\frac{p_0}{c_0 Q_0} + \sum_{k=1}^n \left\{ \frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right\} \frac{1}{Q_k} - \frac{p_n}{c_n Q_{n+1}} \right] \\
 &= \frac{1}{P_n} \left[\frac{p_0}{c_0 Q_0} + \left(\frac{p_1}{c_1} - \frac{p_0}{c_0} \right) \frac{1}{Q_1} + \left(\frac{p_2}{c_2} - \frac{p_1}{c_1} \right) \frac{1}{Q_2} \right. \\
 &\quad \left. + \dots + \left(\frac{p_n}{c_n} - \frac{p_{n-1}}{c_{n-1}} \right) \frac{1}{Q_n} - \frac{p_n}{c_n Q_{n+1}} \right] \\
 &= \frac{1}{P_n} \left[\frac{p_0}{c_0} \left(\frac{1}{Q_0} - \frac{1}{Q_1} \right) + \frac{p_1}{c_1} \left(\frac{1}{Q_1} - \frac{1}{Q_2} \right) \right. \\
 &\quad \left. + \frac{p_2}{c_2} \left(\frac{1}{Q_2} - \frac{1}{Q_3} \right) + \dots + \frac{p_n}{c_n} \left(\frac{1}{Q_n} - \frac{1}{Q_{n+1}} \right) \right] \\
 &= \frac{1}{P_n} \left[\frac{p_0}{c_0} c_0 + \frac{p_1}{c_1} c_1 + \dots + \frac{p_n}{c_n} c_n \right] \\
 &= \frac{1}{P_n} (p_0 + p_1 + \dots + p_n) \\
 &= \frac{1}{P_n} P_n \\
 &= 1, \quad n = 0, 1, 2, \dots,
 \end{aligned}$$

so that $\lim_{n \rightarrow \infty} \sum_{k=0}^{\infty} a_{nk} = 1$. By hypothesis, $B_k \rightarrow \ell$, $k \rightarrow \infty$. In view of Theorem 1.1,

$T_n \rightarrow \ell$, $n \rightarrow \infty$, i.e., $\sum_{n=0}^{\infty} x_n$ is $(\bar{N}, p_n)$ summable to ℓ if and only if

$$(4) \quad \sup_n \frac{1}{|P_n|} \left[\left| \frac{p_0}{c_0 Q_0} \right| + \left| \frac{p_n}{c_n Q_{n+1}} \right| + \sum_{k=1}^n \left| \frac{1}{Q_k} \left\{ \frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right\} \right| \right] < \infty.$$

Using Remark 2.3,

$$(5) \quad |P_n| \leq L |P_{n+m}|, |Q_n| \leq L |Q_{n+m}|, \text{ for some } L > 0, m = 0, 1, 2, \dots; \\
 n = 0, 1, 2, \dots$$

However,

$$\begin{aligned}
\left| \frac{p_n}{P_n c_n Q_{n+1}} \right| &\leq L \left| \frac{p_n}{P_n c_n Q_n} \right|, \text{ using (5)} \\
&= \frac{L}{|P_n Q_n|} \left| \frac{p_n}{c_n} \right| \\
&= \frac{L}{|P_n Q_n|} \left| \sum_{k=1}^n \left(\frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right) + \frac{p_0}{c_0} \right| \\
&\leq \frac{L^2}{|P_n|} \left| \sum_{k=1}^n \frac{1}{Q_k} \left(\frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right) + \frac{p_0}{c_0 Q_0} \right|, \\
&\quad \text{since } |Q_k| \leq L|Q_n|, k \leq n, \text{ using (5) again} \\
&\leq \frac{L^2}{|P_n|} \left[\sum_{k=1}^n \left| \frac{1}{Q_k} \left(\frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right) \right| + \left| \frac{p_0}{c_0 Q_0} \right| \right].
\end{aligned}$$

Thus (4) is equivalent to

$$(6) \quad \sup_n \frac{1}{|P_n|} \left[\sum_{k=1}^n \left| \frac{1}{Q_k} \left\{ \frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} \right\} \right| \right] < \infty.$$

Now,

$$\begin{aligned}
\frac{p_k}{c_k} - \frac{p_{k-1}}{c_{k-1}} &= \frac{p_k}{\frac{1}{Q_k} - \frac{1}{Q_{k+1}}} - \frac{p_{k-1}}{\frac{1}{Q_{k-1}} - \frac{1}{Q_k}} \\
&= \frac{p_k Q_k Q_{k+1}}{q_{k+1}} - \frac{p_{k-1} Q_k Q_{k-1}}{q_k}
\end{aligned}$$

so that (6) can be written as

$$\begin{aligned}
\sup_n \frac{1}{|P_n|} \left[\sum_{k=1}^n \left| \frac{1}{Q_k} \left\{ \frac{p_k Q_k Q_{k+1}}{q_{k+1}} - \frac{p_{k-1} Q_k Q_{k-1}}{q_k} \right\} \right| \right] &< \infty, \\
i.e., \sup_n \frac{1}{|P_n|} \left[\sum_{k=1}^n \left| \frac{p_k Q_{k+1}}{q_{k+1}} - \frac{p_{k-1} Q_{k-1}}{q_k} \right| \right] &< \infty,
\end{aligned}$$

completing the proof of the theorem. ■

IMPORTANT REMARK 3.2 The result of Hardy [1] and that of Móricz and Rhoades [2] are particular cases of Theorem 3.1. In this context, it is important to note that the result of Móricz and Rhoades is valid even without the assumption $\frac{p_n}{P_n} \rightarrow 0$, $n \rightarrow \infty$.

REFERENCES

- [1] G.H. Hardy, *A theorem concerning summable series*, Proc. Cambridge Philos. Soc. **20** (1920-21), 304–307.
- [2] F. Móricz and B.E. Rhoades, *An equivalent reformulation of summability by weighted mean methods*, revised, Linear Algebra Appl. **349** (2002), 187–192.
- [3] A. Peyerimhoff, *Lectures on summability*, Lecture Notes in Mathematics **107**, Springer, 1969.

P.N. NATARAJAN

OLD No. 2/3, NEW No. 3/3, SECOND MAIN ROAD, R.A. PURAM, CHENNAI 600 028, INDIA

E-mail: pinnangudinatarajan@gmail.com

(Received: 2.6.2011)
